VA2 \VIE "1 7" | DN85-DN32 | CLASS 2500

High Temperature HP Floating Ball 3 Piece Up to 650°C (1200°F)

Valve dimensions

H
D¢
Preparation
o Ball port for actuation
i .
8 7 o
without nut with nut
I A 1
— | T
T 1 TH
a Stem flats
' o M & show valve
- HH{e D
_1 o
| TxL thread < N thread
. i FPCD
A
Full port Ll
port | Welded |Threaded
DTN ERDNEOE mm 11.15 174,00/ 107.00/ 50.00/182.00/191.00/216.00 150.00| 69.50| 5.54 YUNF 6.65 (FO3)| 36.00 M5X10 43 69
-3
" Va', 38" inch 044 6.85 421 197, 717, 752 850, 591 274/ 022 0.26 142 9.5 80
DN20 DN15 mm  13.00/ 189.00/ 120.00 60.00/ 187.00 204.50 229.00230.00 98.00 7.54 _ YUNF 740 (FO4)| 42.00 M5X10 5.0 10
© 16
3" " inch 0.51 744 472 236/ 736 805 902 906 386 030 0.29 1.65 11.0 12
DN25 DN20 mm  20.65| 209.00| 144.00 68.00 196.50 226.00 252.00237.00 109.00 7.54 _ YUNF 740 (FO4)| 42.00 M5X10 10.5 28
© 16
1" E7d inch 0.81 823 567 268 774 890 992 933 429 030 0.29 1.65 23.1 32
DN32 DN25 mm  193.00| 225.00/ 152.00 68.00/204.50 233.00 260.00/237.00/128.00 8.71 ¢ 16’ UNF 8.50/(FO5)| 50.00 M6X12 13.0 49
S 16
1" 1" inch 7.60 8.86 598 268 805 917/ 1024 933| 504 034 0.33 197 286 57

188 | ﬂjHABONlM | HIGH TEMP.VALVES




VA2 \VIE "1 7" | DN85-DN32 | CLASS 2500

4

High Temperature HP Floating Ball 3 Piece Up to 650°C (1200°F)

Components & materials

ltem Description

1

Material specification Item Description Material specification

2A

Body Acc. Ordering Code 1 i Disc spring S. Steel 2
Downstream end | Acc. Ordering Code 1 (P2 Stem nut S. Steel 1
Upstream end Acc. Ordering Code 1 1Je3 = Locking clip S. Steel 1
Ball Acc. Ordering Code 1 28 Handle S. Steel 1
Stem Acc. Ordering Code 1 1530 Serrated washer S, Steel 1
Downstream seat | Acc. Ordering Code 1 1[5 Handle nut S. Steel 1
Upstream seat Acc. Ordering Code 1 A Sleeve PVC 1
Upstream seat Inconel 718 1 1£:3 Body bolts S. Steel 12-16
Sl 22 S. Steel 1
Body seal Graphite 2 vE3 | Tag (not shown) . Steel 1
Seat seal Graphite 1 »2'8 8 Bonnet seal Graphite 1
Stem thrust seal /é\gz? ﬁlé?%]Hsﬁgdc%nn%?%%th LTPN, 2 P30 Stem Bearing S Steel 1

- »J3 " Bonnet S. Steel 1
>top pin = Stegl ! vx:300 Bonnet bolts S. Steel 6
Stem seal Graphite 1 " o

Repair kit components

Follower S. Steel 1

HIGH TEMP.VALVES | (EBDHABONIM | 189




ka3 ViE 17-"-6" | DN40-DN150 | CLASS 2500

High Temperature HP Floating Ball 3 Piece Up to 650°C (1200°F)

Valve dimensions

| S |
H
D
C
s &
—l Preparation
—_ - -—-- oBallport — L for actuation
. T R
I
DE—
I A |

i

0 Stem groove

- shovvsva!ve

7S ® Q. M ball position-a -
oW -—-—0—-—-—-—-— —C® M-————- b HABO
® . N thread - N thread---
| TxL thread
FPCD DD Square
Std. | Full A
port Welded |Threaded

I\EOIEPAS mm | 31.80) 237.000 154001 95.00 205.80247.40/283.001  401/14500) - | 13.90/ 20.00 V2005 14,60/ (FO7)| 70.00 . 25/ 69
WZAERZ inch 125 933 606 374 8100 974 1114 1579 571/ - | 055 079 057 276 550 80
I ES DI mm | 38.10) 241.000 157.00105.00257.80 299.40/335.00 600.00/215.00, - | 13.90| 20.00 V2025 14,60/ (FO7)| 70.00 . 50 102
2" WA inch 150 949 6.8 413/ 1015 1179 1319 2362 846 - | 055 079 057 276 1100 118
DIVESDINES mm 51] 30200 194.00125.00(275.00 344.50/384.50/ 401,001 240.00| 1890/ 1590/ 22.70| {"-14 [16.70/(F10)102.00 80| 208
21" 2" inch 201 1189 764 492 1083 1356 1514 1579 945 074 063 089 UNF-2A | 066 402 M0 1760 241
] LD 08 mm | 63.75) 378.00) 254.00 140.00 292.80/ 36230 - - 126500 2845 23.75 3520 1 ,-12 [26.20/(F12) 125.00 V12200 125 300
3" A inch| 251| 1488 1000, 551| 1153 1426 - - 11043 112 094 139 UNF-2A| 103 492 2750 348
DIVEOIIDIENS mm 80 41000, N/A 140.00395.00/507.70, - - 131000 35923592 4650 7'.g 40.00 (F14) 140.00 1620 175 615
4" 3" inch 3.15 1614  N/A| 551 1555 1999 - - 11220 141 141 183 UN-2A | 157 551 3850 713
DIVEEDIEGI) mm 100) 51000 N/A 195.00 480.00/281.00, - - 139500 45904590 5500 23" [50.00 (F16) 165.00 V20130 435 872
6" 4" inch 394 2008 N/A 768 1890 1106 - - 1555 181 181 217 UN-2A | 197 650 957.0| 1012

190 | ﬂjHABONlM | HIGH TEMP.VALVES




ka3 ViE 17-"-6" | DN40-DN150 | CLASS 2500

4

High Temperature HP Floating Ball 3 Piece Up to 650°C (1200°F)

Components & materials

ltem Description

1

1414B 16 17

Preparation
for actuation

. 11

Material specification Item Description Material specification

2A

Body Acc. Ordering Code 1 (P2 Stem nut S. Steel 1
Downstream end | Acc. Ordering Code 1 (Jci Tab lock washer S, Steel 1
Upstream end Acc. Ordering Code 1 Handle S. Steel 1
Ball Acc. Ordering Code 1 Stop plate S. Steel 1
Stem Acc. Ordering Code 1 Wrench head S. Steel 1
Downstream seat | Acc. Ordering Code 1 Wrench bolt S. Steel 1
Upstream seat Acc. Ordering Code 1 Sleeve PVC 1
Upstream seat Inconel 718 1 Body bolts S. Steel 16-52
S S. Steel 1
Body seal Graphite 2 Tag (not shown)  |S. Steel 1
Seat seal Graphite ! Bonnet seal Graphite 1
Stem thrust seal /é\gz? ﬁlé?%]Hsﬁgdc%nn%?%%th LTPN, 2 Stem Bearing S Steel 1

- Bonnet S. Steel 1
2t0p pin > Stegl ! Bonnet bolts S. Steel 6-12
Stem seal Graphite 1 " o

Repair kit components

Follower 5. Steel 1 ** Gear operator should be used for size 3" DN80 and above
Disc spring S. Steel 2 (handle components are not included)

HIGH TEMP. VALVES | C‘DHABONlM | 191




